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S HTxyy "+ >1<(y')2 = X(Wl"+ y'y)
=x(yy)' =§X((y2)')'=§><(y2)"
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BEX (), X, () FTFIREMHEODE X"+ p(t)x' +q(t)x =0 (3)
[ P A 2 1 IS S I E S5-Ik 2 14 ODE
X"+ p(t)x" +q(t)x = 1 (t) (4)

FIEMEA I MG X(E) =c ()X (1) + ¢, (6) X, (t).
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(HZAR Bee B2 An]fe H I EAR
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AJ LLRZE 52 exp(At) A2 I 7 P2 FUAR, H 2 A9 B P i, exp(At) 2 BAR
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(DAR] RE 2 E 2

& HLAL R 22 WU B AR — 5 SRPE RO 2,

HInZR A = a+ib2 JE T FEHIR, B4 4 = a— bt 2 J7 7 FE AR
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et Hy () (n-1) ..., a. X +a,x =0
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NIX 77 FEX" +a1xn T4+ a Xx+a, =0 AN ANE P SER,
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Thm.
(a) BEAR (KA < k < n)F LA, Mjet, e
t* e R T R (IR ER Ik T 2 S
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XM +a x4 ra X +a,x = OFIAR, 55 I B A 1 R T alx(t) = e
e Tx rax"V 4..ra  x'+a,x =0
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By +2y"+y =0

il TNV TR 242 +1=0,7831i(2E), —i(2E)
exp(it), texp(it) exp(—it), texp(—it) 5 iR CHI A
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ofitx™ +ax" . ra x'+a,x=0

o5 N FEX" +a X"+ +a  x+a, =0

oK H Fra iR
oI R EAR, exp(AETN—MiE, L eC
oK F AR, exp(At), texp(At), ..., t“  exp(At)BI A —AMiEE, 1 e C
o AN E L, exp(At) N 24 2 Ak exp(at) cos(bt), exp(at) sin(bt),
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f(t) = pt)e™, HhaeC, pt)AImiksz 2 i,
casel AA 2 X" +a X" +...+a, X+a, =0 (4R
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A

H XA,
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#l. y"-2y'+y =6(x+1)e"

F—. Ry"-2y'+ y = OFJ i fiF

HAFME T FENA? -2 +1=0,F ~EiR1

H 2R 5 H HE A - ¢ exp(X) + ¢, xexp(X)
50 Ry "-2y'+ y = 6(x +1)e )i fiE

6(X +1)e* L UuP (x) exp(Ax), A =12 —E R

y = exp(x)(ax +b)x*=exp(x)(ax® +bx*)
y'=exp(X)(ax’ + (b+3a)x* + 2bx)
y"=exp(x)(ax® + (b +6a)x* + (4b+6a)x + 2b)

6(x+1)=y"-2y'+y=(6ax+2b)exp(x) ..a=1b=3
- exXp(X)(X+ )X FEHFAE v =, exp(X) + ¢, xexp(X) +exp(X)(x + 3) x K[ i fi#

T2 7, Ja e 2
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B, y"+ 4y =cos2x,y(0) =0, y'(0) =2

0. Ry "+ 4y = O B iR

HAFEHFENA® +4=0,F—EM2i,—FHR -2i

HARS i HUE i ¢, cos 2x + ¢, sin 2x EBTTIE

A Ry 4y = cos 2x[§]’33éﬁ¢ y"+4y =exp(2IX) = cos2X+1sin 2X
exp(2iX)E Ul x exp(2ixX), A = 2i& 1 AR FHLU T, X5 I i i 2

y =kxexp(2ix) Vy'=Kk(1+ 2ix)exp(2ix) exp(2ix)kx
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sy +4y = 4dik exp(2ix) = exp(2i1X) = k =—1/4

y =—Ixexp(2ix) / 4 = —ix(cos 2x +1sin2X) / 4 = xsin 2x/ 4 —1xcos2x/ 4
I AR S0, y = xsin 2x / 4
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77 FE B A v A 45 2453151 P (X) exp(AX) !
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x(”)+a1x +-ta X' +a,x= f(t)

oJefix™ +ax" 1...1a X +a,x=0
o5 N FEX" +a X" +---+a  x+a, =0

oK H T A 1R
oI R EAR, exp(AETN—MiE, L eC
oK F AR, exp(At), texp(At), ..., t“  exp(At)BI A —AMiEE, 1 e C
o AN E L, exp(At) N 24 2 Ak exp(at) cos(bt), exp(at) sin(bt),
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x(M 4 alx(”_l) +-ta X' +a,x= f(t)

o Fx(M + alx(n_l) +ee+a X +agX=f () — MR
offi%f (1) -t exp(At)P(t), P(t) N2 i, 1 e C
o AN HFAE 7 FE AR
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o Fx(M + alx(n_l) +ee+a X +agX=f () — MR
offi%f (1) -t exp(At)P(t), P(t) N2 i, 1 e C
o AN HFAE 7 FE AR
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of5f iE R HUHQ(1)
o L RFIE T FE AUKEAR
o BLEFAR Q)" exp(At), deg Q = deg P(FR & I H 1k 77 1)
of5f JE REUEQ(L)
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